Chapter 15


____ 1.
An epidemiologist most likely studies 

A)
chromosomes and their pattern of behavior. 

B)
genes and their mode of expression. 

C)
plants and their makeup. 

D)
the ecological relationships among living things. 

E)
the incidence of leukemia. 

____ 2.
Cancer is the 

A)
absence of mutation rates in subjects. 

B)
degeneration of the nervous system. 

C)
increase in the rate of bloodflow. 

D)
loss of neurotransmitter molecules. 

E)
uncontrolled replication of cells. 

____ 3.
DNA replicates during the _________ phase of the cell cycle. 

A)
B    B)  G1    C)  G2    D)  S    E)  Z 

____ 4.
Nerve cells stay locked in the _________ phase of the cell cycle indefinitely. 

A)
A    B)  G1    C)  G2    D)  S    E)  Z 

____ 5.
Mitochondria divide during the ___________ phase of the cell cycle. 

A)
A    B)  G1    C)  G2    D)  S    E)  Z 

____ 6.
Cytokinesis means 

A)
chromosomal mutation. 
D)
muscle cell movement. 

B)
cytoplasmic division. 
E)
protein synthesis. 

C)
DNA replication. 

____ 7.
An organism has 14 different kinds of chromosomes in its body cells.  Its diploid chromosome number is 

A)
7.    B)  14.    C)  28.    D)  56.    E)  112. 

____ 8.
An organism has a diploid chromosome number of 80.  Its sex cells have a chromosome number of 

A)
20.    B)  40.    C)  80.    D)  160.    E)  320. 

____ 9.
The haploid chromosome number in humans is 

A)
12.    B)  22.    C)  23.    D)  46.    E)  48. 

____ 10.
A chromatid is 

A)
DNA and lipid. 
D)
lipid and RNA. 

B)
DNA and protein. 
E)
RNA and protein. 

C)
lipid and protein. 

____ 11.
Histones are 

A)
carbohydrates.    B)  DNA.    C)  lipids.    D)  proteins.    E)  RNA. 

____ 12.
A karyotype from a human body cell normally has ________ chromosomes. 

A)
24    B)  26    C)  46    D)  48    E)  92 

____ 13.
During prophase, the chromosomes 

A)
attach to a spindle. 
D)
replicate. 

B)
disappear. 
E)
shorten and thicken. 

C)
mutate. 

____ 14.
The centrioles in humans replicate during 

A)
anaphase.    B)  interphase.    C)  metaphase.    D)  prophase.    E)  telophase. 

____ 15.
The aster is associated with the 

A)
centrioles. 
D)
smooth ER. 

B)
mitochondria. 
E)
spindle equator. 

C)
rough ER. 

____ 16.
Each of the following occurs during telophase except the 

A)
chromosomes disappear from view. 

B)
chromosomes uncoil. 

C)
ER produces a nuclear envelope. 

D)
nuclear envelope forms around the chromosomes. 

E)
nucleoli disappear. 

____ 17.
Select the incorrect association. 

A)
anaphase/chromatids separate 

B)
centromere/RNA messenger 

C)
cytokinesis/membrane furrow 

D)
microfilaments/cytoskeleton 

E)
telophase/final stage of nuclear division 

____ 18.
From contact inhibition, the cells involved 

A)
increase their rate of cell division. 
D)
spread to other body regions. 

B)
make RNA. 
E)
stop dividing. 

C)
replicate more DNA. 

____ 19.
The growth-inhibiting factor produced by skin cells 

A)
attracts a blood flow. 

B)
decreases their use of oxygen. 

C)
deposits pigment in the cells. 

D)
stops cell division. 

E)
stops signaling from the endocrine system. 

____ 20.
Benign tumors 

A)
are confined to the lymphatic system. 

B)
tend to grow and spread. 

C)
tend to metastasize. 

D)
transmit messages rapidly. 

E)
usually pose no medical problems. 

____ 21.
Metastasis is the tendency of cells to 

A)
attract a blood supply. 

B)
become trapped in the lymph nodes. 

C)
increase their use of oxygen. 

D)
spread out. 

E)
stop growing. 

____ 22.
What organ is currently affected as the main source of cancer deaths? 

A)
brain    B)  heart    C)  lung    D)  spleen    E)  stomach 

____ 23.
Dietary factors probably represent _________ percent of all current cancers. 

A)
less than one    B)  5    C)  10    D)  30 to 40    E)  90 to 95 

____ 24.
In 1992, there were an estimated _________ cases of human skin cancer. 

A)
50,000    B)  100,000    C)  200,000    D)  450,000    E)  2,000,000 

____ 25.
Which substance is the most deadly synthetic chemical? 

A)
DDT    B)  dioxin    C)  lead    D)  mercury    E)  petroleum 

____ 26.
About _________ genes control the replication of cells. 

A)
10    B)  50    C)  150    D)  250    E)  500 

____ 27.
A promoter 

A)
blocks oxygen delivery to cells. 

B)
causes cells to spread throughout the body. 

C)
increases cells' use of glucose. 

D)
is a carcinogen. 

E)
stimulates cells to divide uncontrollably. 

____ 28.
The enzymes for the conversion of nitrites into carcinogens are found in the 

A)
heart.    B)  kidney.    C)  liver.    D)  pancreas.    E)  small intestine. 

____ 29.
The period between the exposure to a carcinogen and the emergence of a cancerous tumor is the _________ period. 

A)
carcinogenic    B)  inhibition    C)  latent    D)  promoter    E)  suppression 

____ 30.
One source of ultraviolet radiation is 

A)
asbestos fibers.    B)  dioxin.    C)  hot water.    D)  the sun.    E)  X-rays. 

____ 31.
A carcinogen is a cancer-causing agent. 

A)
True   B)  False

____ 32.
Interphase is a period of active cell division. 

A)
True   B)  False

____ 33.
Chromatids are attached at the centromere. 

A)
True   B)  False

____ 34.
Generally, mammalian cells spend 6 to 8 hours in the S phase. 

A)
True   B)  False

____ 35.
Two homologous chromosomes are different in size and shape. 

A)
True   B)  False

____ 36.
Somatic cells are haploid in humans. 

A)
True   B)  False

____ 37.
Sex cells are diploid in humans. 

A)
True   B)  False

____ 38.
Meiosis produces germ cells. 

A)
True   B)  False

____ 39.
Each chromatid is a molecule of DNA. 

A)
True   B)  False

____ 40.
Amniocentesis is the rapid, uncontrolled division of cells. 

A)
True   B)  False

____ 41.
A karyotype is an organized display of chromosomes. 

A)
True   B)  False

____ 42.
During prophase, the chromosomes shorten and thicken. 

A)
True   B)  False

____ 43.
The mitotic spindle is an array of microtubules. 

A)
True   B)  False

____ 44.
Interphase follows telophase in the cell cycle. 

A)
True   B)  False

____ 45.
Cells do not exhibit contact inhibition in cell cultures. 

A)
True   B)  False

____ 46.
A malignant tumor remains confined to the area where it develops. 

A)
True   B)  False

____ 47.
The circulatory system is a main vehicle for the spreading out of cancer cells. 

A)
True   B)  False

____ 48.
Cancer cells tend to lodge in the lymph nodes. 

A)
True   B)  False

____ 49.
The chance of developing bladder cancer is not affected by cigarette smoking. 

A)
True   B)  False

____ 50.
The incidence of deaths from cancer has decreased over the last five years. 

A)
True   B)  False

____ 51.
A mutation can be a change in the DNA. 

A)
True   B)  False

____ 52.
A chemical signal blocks development and progression in the second stage of cancer. 

A)
True   B)  False

____ 53.
Epigenetic carcinogens do not react with DNA to cause cancer. 

A)
True   B)  False

____ 54.
Nitrites are normally harmless unless converted into carcinogens. 

A)
True   B)  False

____ 55.
Many tumors form 20 to 30 years after mutation. 

A)
True   B)  False

56.
Cancer is a disease caused by the uncontrolled ________ of cells. 

57.
During cell division, the nucleus and __________ divide. 

58.
__________ is the period between cell divisions. 

59.
Interphase has __(number)__ distinct phases. 

60.
During the S phase, the two complementary strands of DNA ________ for replication. 

61.
Mitosis is specifically the division of the ________. 

62.
Condensation means that the chromosomes _________. 

63.
_________ is cytoplasmic division. 

64.
Human body cells are not haploid, they are ________. 

65.
Histones are ________ proteins. 

66.
The chromosomes are arranged in a karyotype in descending order of ________. 

67.
Centrioles are identical in structure to __________ bodies. 

68.
The two types of mitotic spindle fibers are ________ and ________. 

69.
During metaphase, chromosomes line up in the __________ of the cell. 

70.
The ________ stage reverses many of the events of prophase. 

71.
A ________ may be malignant or benign. 

72.
Once a tissue is repaired, the rate of cell division becomes ________. 

73.
Skin cancer can often be successfully treated by ________. 

74.
The first step of tumor formation is ________. 

75.
The second step of tumor formation is ________. 

76.
What causes cancer? 

77.
What is the difference between mitosis and cytokinesis? 

78.
What is the relationship between diploid and haploid cells in humans? 

79.
How is a karyotype useful for diagnosis? 

80.
Match each term on the left to an appropriate association on the right.



____ anaphase
A. chromosomes attach to the spindle center



____ interphase
B. cell is not dividing



____ metaphase
C. chromosomes disappear from view



____ prophase
D. chromatids first separate



____ telophase
E. nuclear membrane breaks down 
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E


2.
E
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D
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B


5.
C
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B
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C
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B
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C
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A
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C
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A
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A
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A
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B
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B
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A
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A
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B


41.
A


42.
A
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A


44.
A


45.
B
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B


47.
A


48.
A


49.
B


50.
B


51.
A
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B


53.
A


54.
A


55.
A


56.
replication 

57.
cytoplasm 

58.
 Interphase 

59.
3 

60.
unzip 

61.
nucleus 

62.
shorten 

63.
Cytokinesis 

64.
diploid 

65.
globular 

66.
size 

67.
basal 

68.
polar and chromosomal 

69.
center 

70.
telophase 

71.
tumor 

72.
normal 

73.
surgery 

74.
conversion 

75.
development and progression 

76.
High-energy forms of radiation, such as ultraviolet energy, cause many cases. Other sources are dietary. Some cancers are caused by viruses. 

77.
Mitosis is the division of the nucleus.  Cytokinesis is the division of the cytoplasm.  Together, they produce the division of the cell. 

78.
Body cells are diploid in humans.  Meiosis produces the haploid sex cells in humans.  The union of haploid cells,  the egg cell and the sperm cell, produces the fertilized egg, which then develops by mitosis. 

79.
It can be used to detect chromosomal birth defects.  Examples include finding an extra chromosome or a chromosome with a structural defect. 

80.
D, B, A, E, C
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